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days go by without a mention of globalisation in the media. whilst we
are all aware that globalisation is affecting our lives, our attitudes to it
differ widely. for some, globalisation is the way to a better future,
offering gains through specialisation according to comparative
advantage and an opportunity for developing countries to raise their
living standards. on the other hand, critics hold globalisation
responsible for a variety of social problems: for high unemployment
In the industrialised world, for pressure on wage levels and for the
present instability in financial markets. O O O OO0 O 00O OO O
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0000000 in 1945, if you had wanted to fly from melbourne to
london it would have cost you something like two years average
iIndustrial wages. if you want to do that in the late 1990s, it will cost
you about three weeks average industrial wage. so theres been an
enormous decline in transport cost. what that means is that it maybe
cheaper to produce a good in, lets say, the united kingdom and ship
It to australia, rather than to produce it in australia. so it changes the
fundamental economics of the industry. another development that
facilitates globalisation is the rise of communications. historically
again, distance has been a major impediment to the co-ordination
and management of organisations. with the tremendous
developments in both computing and communications, cost has
really declined substantially. again, quoting some data, in 1930 a
phone call from new york to london cost something of the order of
$300, today it costs something like a dollar. 100Test [0 (O 00 (O O [
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